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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ 4.534 54.21 | =hst | 0oo ~ 434\ 1.98 9.98 ZznLst 1.00 | 5.00 ~ 5.00 54.21 | =nLS | 5,00 ~ 500 1.98 9.98
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 492 61.33 | TN | 000 ~ 0.00| 174 8.81 znLst 1.00 | 5.00 ~ 5.20 61.33 | TnS | 6,00 ~ 520|174 8.81
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1000 ~ 718 91.38 | =hst | 0oo ~ 000|170 8.60 znLst 1.00 | 5.00 ~ 9.20 91.38 | #nS | 5,00 ~ 920 1.70 8.60
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 |1 000 ~ 710 90.14 | =hst | 0oo ~ 710\ 1.82 921 znLst 1.00 | 5.00 ~ 9.00 90.14 | =nS | 5,00 ~ 9.00)| 1.82 921
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 |1 0.00 ~ 6.64 83.82 | =hst | ooo ~ 664|192 9.70 znLst 1.00 | 5.00 ~ 8.50 83.82 | #nst | 5,00 ~ 8560|192 9.70
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%# %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 5695 74.50 | TN | 000 ~ 595)2.05 10.37 ZznLst 1.00 | 5.00 ~ 8.10 74.50 | =nRS | 6,00 ~ 810|205 10.37
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ b5.54 69.14 | TN | 000 ~ 5564 1.91 9.68 znLst 1.00 | 5.00 ~ 6.50 69.14 | =hS | 6,00 ~ 6.60 | 1.91 9.68
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh s ~ ZnLst ~ Zh s ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh s ~ ZnLst ~ Zh s ~ ZnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZhnLst ~ ZhLs ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImEBZ S ~
ZhLS ~ ZhLst ~ ZhLS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3mEBZ D ~
Zh s ~ ZhList ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh s ~ ZhnLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zhs ~ ZhLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBRAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
ZzhLst ~ s ~ ZzhLst ~ s ~
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